
Pre-Calculus - Honors

Homework #59 Answers

From t'larghton-iiifflin Prccolculus 3nd Edition
p4762
92) ftuolp roots of: 16(cos 60" + i sin 60")
Use: 6Oo + 36Oo(0) = 3@ ond 6O" * 36O"(1) = 2lA"

22
4{cos 30" + i sin 3O") = q(.l6tZl * 4(*)i = 2lJr3 . 2i
4(cos 210" + i sin 210') = 4(-El2) + 4(-*)i = -ZE - Zi

93) Fourth roots of: 16(cos (4'rl3) + i sin (/+/30
Use: 24O" + 360"(O) = 6Oo , 24O" + 36@(1) = 150,'4 4

240" + 360"(21 = 24Qo, 240" * 360'(31 = 330"
44

?(cos 6O" + i sin 6Oo) = 2(*) * ?(.€ilz)i = I * irl5
?(cos 15O' + i sin 15O") = 2(-',{T/?) + 2(*)i = -{5 * i

Z(cos 24O" + i sin 24O") = 2(-*) + z!./F/?ri = -1 - i"/5
Z(cos 330" + i sin 33o") = z(6/2) + 2(-*)a = € - i

94) Fifth roots of 32(cos (h16, + i sin (5rl6D
Use: l5O" + 360"(O) = 3Oo, 150" * 36@(1) = 1O2o, 15O" + 36O'(?) = 174",

555
15O" + 360"(3) = 246", 15O" + 360"(41 = 318"

55
2(cos 3Oe * i sin 3O"j = 2({312, * 2(ll2)i = .JT * i = 1.732 + i
Z(cos 102" + i sin tOz"') = 2(-.208, " 2(.9781i ' -.416 + 1.956i
Z(cos t74" + i sin l74o) = 2(-.995, + 2(.105)i = -1.989 + .2@i
2(cos 246" + i sin ?46") = 2(-.4OT) + 2(-.914)i = -.813 - 1.827a
2(cos 318" + i sin 318') = 2(.743) + 2(-.669)i = 1.486 - 1.338i

97)Cube roots of: (-t25/?Nl * "/3i) p ={JTf,=-2 tanO = .67!:9 = 60"
Cube roots ofz (-125/2[2[cos 6O" . i sin 6CI)

Use: 6Oo + 36O(O) = 20.,6O' . 360e(1) = 14Oo, 60" + 36O"(21 = 2@
333

-5(cos 20" + isin2O") = -5(.9397 *.342i) = -4.69 - t.7ta
-5(cos 14O" + i sin 14O") = -5(-.766 , .&28i) = -3.83 " 3.21i
-5(cos ?ffi" , i sin 260p) = -5(-.1736 - .9&08i) = .87 + 4.9?i
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